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Life Sciences — Grade 10 3
NSC - Memorandum

QUESTION 3

3.1
3.1.1 High lightv and a temperature of 20°Cv

3.1.2 - Light was a limiting factorv’
- decreasing the rate of photosynthesisv’

313 - Soilv A wﬁ .
- Waterv’ ) - o gk LI\
- Windv' S o
- Altitudev’ woﬁ@v
- Aspectv/slope  * Any
(Mark first TWO only)

3.1.4 - High amount of heatv’ L. N
- Less water available in soilv /<t vy S
- Cuticles reduce water loss/conserve waterv’ Any

3.2
3.21 Organisms that occur in a particular areav’ and nowhere elsev’ @mﬁwf

B

3.2.2 - Local communitiesv’
- Tourists¥
(Mark first TWO oniy)

3.2.3 - Adapted fo live in dry areasv’
- Has thick cuticlev’
- Can live in sandy soilv’ P o~ . - «
g S St [ S tep
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Life Sciences — Grade 10 4
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SECTIONC

" QUESTION 4

uwwqc,w Lowre 4 m,acf.u AT VRS

Water og

<?wo$\ Alr rises and coolsv’
- Water vapour condensesv’

increased heat energy from the sunv’ .
causes evapgration of waterv Ciet wio auiss Seprin
from ponds to the atmospherev’ ~%} s

Plant roots absorb water from soilv’ @‘
Water from piants is lost by transpirationv’
through their leavesv’

Animals drink waterv’ from ponds

They also lose water vapour through sweatingv’
Air omom\amm saturated with water vapourv’

It forms cloudsv
Clouds release water when it rainsv’ Iprecipitation
Rain in the ground runs off into the ponds againv’ Any (9)

Effects of pesticides on food chain

Pesticides pollute s\mﬁmﬂ\\ o ek i S \

It poisons aquatic m::ﬂm_m,\\ e b n\QA\&AVQC.h\f}SPhw
Tadpoles may diev’

Leading to death of eelsv’

- Due to shortage of foodv’ . R

The eel population decreasesv’
Birds may also diev’

due to increased competition for the limited eelsv/food ) VA
Some birds migratev” to look for food m <
Bird population decreasesv’

Pondweeds grow excessivelyv
since they have no consumersv’

Disturbance of food chain occursv’
———

i . , Any (8)
L\?a.\.w\ arokanz_ &\O@wmd?,\f

Content (17)
Synthesis  (3)

[20]

ASSESSING THE PRESENTATION OF THE ESSAY

RELEVANCE

LOGICAL SEQUENCE COMPREHENSIVE

All information provided is | Ideas arranged in a logical/ | Answered all aspects required by the essay
relevant to the topic

cause-effect sequence in sufficient detail

All information is relevant Correct sequence of events . C BN e
to water cycle and effect of | in water cycle and cause- Atleast (6) points on water cycle: (5) points

pesticides effect of pesticides

on the effect of pesticides on food chain.

1 mark | 1 mark [ 1 mark

TOTAL SECTION C: 20
GRAND TOTAL: 60
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